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Instructions for the Candidates

Write your roll number in the space provided on the

top of this page. -

This paper consists of fifty muluple—chmce type of

questions.

At the commencement of examination, the questlon

booklet will be given to you. In the first 5 minutes,

you are requested to open the booklet and
compulsorily examine it as below :

(i) Tally the number of pages and number of questions
in the booklet with. the information printed on the
‘cover page. Faulty booklets due to pages/questions
missing or duplicated er not in serial order or any
other discrepancy should be got replaced
immediately by a correct booklet from the
invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given.

(iiy After this verification is over, the OMR Sheet
Number should be entered on this Test Booklet.

Each item has four alternative responses marked (A),

(B), (C) and (D). You have to darken the oval as

indicated below on the correct response against each item.

Example:@ . . @

where (C) is the correct response.

Your response ta the items are to be indicated in the
Answer Sheet given inside the Paper I Booklet only.
H you mark at any place other than in the ovals in the
Answer Sheet, it will not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.
If you write your Name. Roll Number, Phone
Number or put any mark on any part of the Answer
Sheet, except for the space aliotted for the relevant
entries, which may disclose your identity, or use
abusive language or employ any other unfair means.
you will render yourself liable to disqualification.
You have to return the test question booklet and OMR.
Amnswer sheet to the invigilators at the end of the
examination compulsorily and must not carry it with
you outside the Examination Hall,

. ‘Students can take home carbon copy of their OMR

Answer sheet.
Use only Blue/Black Ball point pen.

. Use of any calculator or log table etc,, is prohibited.

There is no negative marks for incorrect answers.
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PAPER CODE : 07
PAPER—II
SOCIOLOGY

(2) marks. Attempt all the questions.

Note : This paper contains Fifty (50) objective type questions, each question carrying twe

AT : TH U T U ( so)a'g-ﬁsmaﬁum%mm%z}(2)axaa%|mﬂwh%méx

Who among the following sociologists
called “sociology” ‘social physics’ ?
(A) Herbert Spencer

(B) Maclverand Page

(C) A.Comte

(D) E.Durkheim

_Which ofthe following can be most suit-
able area of study in sociology ?

(A) Trade

B)  Community
(C) Education
(D) Individual

Which one of the following is the cor-
rect statement about society ?

(A) An ogglomeratlon of people

(B) A group of people bound by
discipline

{C) Anassociation which regulates
membership

(D) Anassociation patterned onthe
norms of interaction

P.C.07-SOCIOLOGY-II/550
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What does Society exclude ?
(A)  Difference

(B) Interdependence

(C) Reciprocity

(D) - Timeboundness

The essential characteristic of primary
group is—

(A} . Lack of identification -

(B) affectionand love

(C) Mdentificationofinterest

(D) continuous contact

‘Social groups by structure can be
classified into as per Dwight sandeson’s
classification? - ’

(A) Three-fold

(B) Fivefold

(Cy Fourfold

(D) Sixfold

What determines group life ?
(A) Wefeeling

(B) Feelingofunity

(C) Common purpose

(D) Alloftheabove

Match List-I with List-II and select the
correct answer from the codes given
below—
List-[ List-IT
(Types of groups)  (Characteristic of

: group)
I. Face to face
relations, smallness,
emotional
attachments

" @ngroup

P.C.07-SOCIOLOGY-IL550
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(b) Peer-group IL Largeness,
impersonal
relationships,
contractual
conditions

(c) Primary group IIL. Similar status
and roles of group
members

(d) Secondary group IV. Relations of

' peace and order
and subjectively
attached meanings
V. Relations of
mutual adjustment,
cooperation and

integration

Codes: () ® © . )

@ 1 I v v
® IV I n v
© m v 1 i
® v m 1 1

Which of the following are the basic
characteristics of a social group and
mark the corréct answer from the codes
given below—
1. Physical presence of two or more
persons
2. Interaction between two or more per-
sons -
3. Definite pattern of relationships
* 4. Consciousness of members for be-
longing to the group
(A) 1,2, and3
®) 2,3and4
{C) 1,3and4

D) 1,2and4

P.C.-07-SOCIOLOGY-11/550
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10.

11.

12.

A group of fammilies live togther, more or
less permanently ina locality sharing com-
:mon living conditions and sharing senti-
ments of belongingness. Which one of
the following terms denoteo such a
group?

(A)  Primary group

(B) Cultural group

(C) Community

(D) Association

Under which of'the following circum-
stances folkways are developed into
mores—

1. Their fulfilment comes to be re garded
asnecessary

2. Society begins to show more toler-
ance including their violations

3. People come to resort to informal
sanctions

4. The idea of morality, right and wrong
comes to be attached with them.

(A) land3

(B) land4

(©) 2and4

D) 3and2

The notion that men are stronger than
women is a—

(A) Belief
(B) Norm '

(C) Valie

- ..{D) " Sanction

—

e
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13.

14.

15.

16.

17.

An individual forgets the rules, miscon-
strues its intertion, this implies—

(A) Conformity

(B) Rebellion

(C) Deviance

(D) Retreatism

Who among the following is mdenuﬁed

as a community ?

(A) The people of Indian originin
Nepal

B) Tradeunion movements

(C). TheBengali Brahamins in Nanital

(D) The Indian society

What is not the social role in the follow-

ing? |

(A) Alawyer preparing his witness

(B) - Anactor involved in an act of
‘violence ona screen

(C) A priestperforming a ceremony

(D) A politician preaching in the cutt

of violence.
Which of the following are units of so-
cial structure 7
(A) Institutions
B) Groups
(d) Associations
(D) - All ofthe above;

Marraige within in the same casteor class
is called—

(A) - Exogamy

(B) Endogamy

(C) Hypergamy

(D) Hypogamy

P.C—07-SOCIOLOGY-II/550
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‘18,

19.

20.

21.

22.

Outgroup attitudes aooordmg to Maclver,

are marked by—

- {A) A sense of differences.

@) Somedegree of difference.

(C) Mutual interest.

(D) Joealousy and Conflic among
members.

The function in a social structure hasbeen
classified by R.K. Merton as—

" (A) Manifestand Latent

(B) Objective and subjective
(C) Involvedandrelative
(D) Dormantand Latent

‘Which tribe among the folloing practices

non-fraternal Polyandry.
{A) KotaofKerala

(B) Khasiof Assam

(C) - Todaof Nilgiri
(D) Nagas of Malabar

In which tribe the divorced woman most
respected 7

(A) LushaiofAssam
(B) Korawa of Mirzapur
(C) KhasiofAssam

(D) Santhals of Chotanagpur

Among the following which don’t indi-
cate status ? :

(A) BharatRatna

(B) Lubourer

(C) Thetitle of “Khan Bahadur”

) Useof Prefix ‘Pandit’

P.C.~07-SOCIOLOGY-II/550
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20.
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o 22,

FHER ¥ ATER TG § B
o o e §—

A) T R R W am

(B) T € TETH ST EH H e
(C) =t fea

(D) weEt & e gt $wl e g

AF. 7 3 WA GO § W
P ¥ w0 it e i —

(A) =T qen Yo

(B) TEWF qA AT

(C) ufwfaa aw wafsa

) issra aw =

farfafaa § @ ey waenfa H eram
gt forare wen € 2
(A) F@F B
B) @9 F TRt
(C) ~iafiit % 2=

1) m%m

form SHTR-w9E ¥ qereye Sk
AR AR T W AR R ?

(A) FI99 F TR

B) fo=ig & wwEn

(C) * ¥ F TE

O) TRIAE F wae
frefafaa #§ § 9 yhefa o T8
Tikn?

&) WHE-T

®B) =g

(C) wH-EIgL = faa=

(D) ‘vfea’ st = T & W g



https://www.jbigdeal.in/

-

73. Which of the following traits define the
Achieved Status ?
(A) Sex
B) Race
{C) Knowledge and skill
(D) -Allofthe above
24. Match List-T with List-Il and select cor-
rect answer by using the codes given
below—
List] List-IT
(Name of the (Name of scholar)
village studies)
A.Kumbapettai 1. A.R.Beals
B.Rampura 2. Kathleen Gough
C.Nambhalli 3. Stinivas
D. Bisipara 4, F.G Bailey
Codes: a b c d
@A) L 3 4 2
® 2 4 3 1
© 2 3 1 4
D 3 4 1 2
25.  Whichofthe following characteristics are

found in the little community ?
1. Selfsufficiency 2. Hegemony

3.Homogeneity 4. Association

Choose the correct answer from the
codes given below—

(A) 1,2and3

B Land2

(Cy 2and3

D) land3

P.C.07-SOCIOLOGY-11/550
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26.

27,

Codes :

28.

- "A. Slavery

Given below are two statements, one

labelled as assertion (A) and the other

labelled as Reason (R)—

Assertion (A)—Cities have a large num-

ber of voluntary organizations

Reason (R)—Organic solidarity is a

resultant of high moral density.

In the context of the above statements,

which one of the following is correct ?

(A) BothAandRare true and R is the
correct explanation of A.

(B) BothAand R are true but R is not

: a correct explanation of A.

(©) AistruebutR is false,

(D) AisfalsebutR is true.

Match List F with List-II and mark cor-
rect answer—

List-I List-II

(Type of societies) - (District features)-
1. Wagé—labour

2. Share cropping
3. Superstitions

4. Privately owned
commodity

5. Relatively homo-
genous

B. Tribal
C. Pre-capitalist
D. Capitalist

&)
®)
©
®)

N oA AN
W N B o g
w b-). N w [¢]
— o o~ N A

Dual organization as a functional stratifi-
cation is prevalent among—

(A) Castes

(B) Class

(C) Tribes

D) Varna

P.C.-07-SOCIOLOG Y-11/550

26.

27.

28.

Freafafas @ wem % 3w W

AR (A) # Ha & E ¥ e g

W HRW (R)

TR (A)— R ¥ 9 dem §

Wfes Hed Heg 3|

FT (R)—==1 Haw oveg ¥ wmm

et TR €

T et ¥ wreed F v wo w3

(A) o A iRR Wt & awr R Wt
T A A Y e s

(B) TNASRRTATRRAR
HE! =T e

(C) A& vg R o £

(D) AR R RGRGE R

ei-1 1 -1 4 fram #ife ol
W& IT F T F

-1 wE-1
(Tt & JhR) (faferes weer)
A <rEa 1. FH-meed (Shferer)
B, SFnfy 2. deré W amRE

_ Htang

C.qd-{sftag 3. sfufasary
D. Ysffarg 4. g =1 it et

‘ 5. STIEIFT THET

a -, b c d

Ay 2 1 3 4
® 4 5 2 1
© 4 2 3 5
O 2 3 5 1
HEE Tww ¥ ' fy-grey
(35T W) el e § 2
@ i
®) =i
(€) eIy
®) =



https://www.jbigdeal.in/

29.

30.

31

Given below are two statements, one

labelled as assertion (A) and the other

labelled as Reason (R)—

Assertion (A)—Members of Urban

society are held together by organic

solidarity. *

Reason (R)—Individualism is the char-

acteristic of urban social strucuture.

In the context of the above statements,

which one of the following is correct ?

(A) BothAandR aretrueandRisthe
correct explanation of A.

(B) BothAand Raretruebut Risnot

) acorrect explanation of A.

(©) AistruebutRis false.

(D) Aisfalsebut Ristrue.

The death of children below one year of
life isknown as—

" (A) Childmortality

(B) Intra-uterine mortality
(C) Neo-natal mortality
(D) Infantmortality

Given below are two statements, one
labelled as assertion (A) and the other

" labelled as Reason (R)—
. Assertion (A)}—Women often migrate to
- short distants places .
.Reason (R)—Migration of women is pre

dominantly lined with marriage

In the context of the above statements,

which one of the following is correct ?

(A) BothAandRaretrucand Risthe
cortect explanation of A,

(B) BothAand R are true but Ris not

“acorrectexplanation of A.
(C) AistruebutRis false.
(D) AisfalsebutRistrue.
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32.

33.

34.

3s.

NGY

®)

D)

©

Which one of the following is not cor-
rectly matched ?

Organic solidarity : Mechanical
solidarity _

Restilutive law : Repressive law
(C) Segmentary society : Organised
' society

Specialised function : Reciprocal

o)
: funetion

Reference groups are symbolical of-—
A)
®)
©

Notaclan
Not a family
Not aclass

Some enterior groups for
comparative purposes.

‘Exogamy symbolised in the primitive
societies by—

A
B)
©
(D)

Marriage outside one’sown group
Marriage with a blood relative
Marriage within one’s own group

None of these

Which one is not a secondary kin ?
(A)
®)

Wife of brother-in-law
Sister’s husband
Brother’s wife

Wife’s sister

D)

P.C.07-SOCIOLOGY-IV/550
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36. Which one of the following is not apri- © 36,
‘mary kin ?

37.

38.

39.

GV
®)
©
®©)

Mother
Father -
Uncle

Brother

37.

Which one of the following is the first
stage of the evolution of an institution ?

(A)
(B)
©

™

Who among the following formulated the

Ideology

Tradition

Mores

Collective experience

concept of ‘little tradition’ and “great
tradition’ 7

GV
®)
©
O

Identify the state which does not signify -
“sanskritization’—

(A)
®)
©

i)

Mackim Marriot
Milton Singer
RobertRedfield
Louis Dumont

Claim to higer status is made
Horizontal social mobility occurs
New rituals and customs are
adopted

Life'styles to upper castes is
mitated

P.C.-07-SOCIOLOGY-II/550 11
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40. Weber’s verstehen is a method which

41.

aims at— )

(A) Explaining action of individual
(B) Identification of causes of action
(C) Interpretive understanding of
actor’s motives

Developing causal understanding
of relationships through action.

™

~¥ode as a measure of central tendency

'T;“cgbuld be understood as—

A)
®
©
()

Least frequent value
Middle value
Central value

Most frequent value

42, Moving averageis calculated by using—

43,

44,

Mode

Median

Mean ‘
Both, mean and median

@A)
®)
(©)
)

Which one among the following is not

the principle of experimental designs as -

given by professor R.A. Fisher—
A)
®
©
)

The principel of Replication
The principle of Randomization
The principle of Local Control
The principle of idealization

Who among the following did introduce
the concept of participant observation ?
{A) Edward Lindeman

(B) W.F. Whyte

(C) N.Anderson

(D) Paul Cressey
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40.

41.

42.

43.
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T B

(A) = =) e =1 =
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(C) =l % 3eval =it evefqol =
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F5 ygfa & wrew & wger # wwe
T YHdl -

(A) T8 =9 e e o

(B) wifers e

(©) = e

DO) ¥ A e T g
‘W—aﬁm’ﬁwa\%mm
Tepar e - :

(A) wgus

(B) Hfem

(©) wemiw

D) weE iR afeer

TR s, firwr 3 Frefafiee 4 2
o Ao 5 Firmt 1 v
A ?

(&) Tl = frem

By frafyaa = frag

(©) oI frio & Fram

D) it =1 fram

frofofes % 9 fead ‘weumh
STaEIH it STEYRT & 7

@) wEEE fas

B) T=YUH. AT

(© . TreEs

(D) e e
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45.

46.

47.

48.

)

©

“Before and after” observations are made
in studies involving—

Exploratory Design

Experimental Design

Descriptive and Diagnostic Design

®
©

(D) Hypothesis testing design.

In ‘Snowball Sampling’ method which
one of the following criteria is to be
followed in the selection of asample ?

)
®)

Contact a typical case

Ask this case to recommend further
cases.

Continue this practice until sample
is completed and saturated

(D) Alltheabove

Which one of the following isnot a char-
acteristic of a usable hypothesis ?

(A) Conceptual clarity

(B) Empirical

(C) FLackof theoretical crientation
(D) - Specificity

‘Which average can be calculated from a

simple table ?
A)
®
©
()]

‘Mean and Median
Median and Mode
Mode and Mean

None of the above
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45.

47.

43.

e et R e 39 STl 9 T
st & ford o ¥—

(A) = FRE
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®)
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©) v asft

©
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e’ e TE ¥ ?

(A) STAYRTF Tl

B) wias e
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D) fafrea

YR AIfeE % STuR W R oiem
e Y AT ) S HE § 2

(A) WA e witw

(B) wftzs au siged

(C) =g I HEHiS

O) ST i o TE

PT.O.
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w49, ' Wﬁi-(:h method is more suitable for 49,

50.

collecting data from non-literate
Communities

(A)
®
©
®

Observation
Questionnaine
BothAand B
None of the above

50.

Anull hypothesis is—

(A)

®)

©
O

"There is no relation between two

variables

There is relationship between two
variables

The hypothesis is not tested

All the above

aaaq
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